
blind rivet nuts
écrous aveugles



BLIND RIVET NUTS
ECROUS A SERTIR EN AVEUGLE

A

1

Provide a quick and secure assembly in thin sheet metals especially where installation is only possible 
from one side of the application.

Benefits - Avantages

• Ideal for installing threads into boxes, closed sections or confined areas.
• La pose en aveugle permet l’installation dans des profilés, des tubes ou des caissons.

• Can be installed in painted and coated materials without damaging the surface.
• L’écrou peut être installé à n’importe quelle étape de la production même sur des surfaces peintes ou revêtues.

• Reduce cost productions thanks to high speed assembly, low cost equipment and low operator skill 
requirement.
• La pose en aveugle permet de réduire les coûts de production grâce à la cadence dépose élevée, au faible 
coût de l’équipement et au personnel peu qualifié. 

• High resistance thread in cylindrical or hexagonal holes.
• Haute résistance du filetage dans des trous percés ou poinçonnés.

• Can fasten 2 work pieces before threading the third one.
• En plus de sa fonction d’écrou, il peut riveter deux pièces avant le vissage d’une troisième.

• Variety of types and materials compliant to RoHS Directive.
• Il est fabriqué dans une large gamme de formes et de matières conformes à la directive RoHS.

BCT is a new construction of Rivet Nuts. With four cross holes 
on the shank we can control where the bulge starts forming. The 
Controlled Bulge insures optimal fitting even into holes not 
perfectly round or irregular or oversized. 
BCT concept offers now a multi-grip range of blind rivet nut. 

One Rivet Nut is able to cover different grip ranges. Thanks to the 
controlled deformation of the bulge the BCT are ideal for 
application on thin materials or brittle and soft materials like 
plastic, rubber and composites.

BCT Multigrip blind rivet nut - Ecrous à sertir en aveugle multiserrages

Summary - Aperçu de gamme

Enfin l’arrivée sur le marché du rivetage d’un écrou noyé multi-serrage de la gamme BCT. Il offre une large plage 
de serrage, s’adapte à différents épaisseurs et diamètres de trou.

Il peut remplacer plusieurs écrous standard, réduit le nombre de références en stock et entraîne des réductions de 
coût.

Les écrous aveugles Riv-Elit® permettent d’obtenir un filetage rapide et robuste sur des pièces de faible 
épaisseur.





M O U N T I N G  • MONTAGE / FUNKTIONWEISE

T E C H N I C A L  F E A T U R E S  
• CARACTERISTIQUES TECHNIQUES / TECHNISCHEN BESONDERHEITEN

• Visser l’écrou sur 
le mandrin 
de la sertisseuse.

Screw the nut into the
screw rod of the tool.

Die BEM auf den
Gewindedorn des
Gerates einschrauben.

• Insérer l’écrou 
dans le trou.

Insert the nut in 
the hole. 

Die BEM ins Bohrloch
einführen.

• Dévisser ensuite l’outil.

Unscrew the screw.

Die BEM vom
Gewindedorn aus-
schrauben. 

• Le bourrelet est 
obtenu par la traction 
de l’outil.

The traction is pro-
duced causing the
cylindrical drum. 

Die BEM wird durch
den Gerätehub
gesetzt.

• L’assemblage 
est terminé.

The mounting is over.

Die Verbindung 
ist fest.

alu

3000

4000

5600

7500

13000

15000

acier
Steel

Stahl

3900

6800

11500

16500

25000

32000

34000

inox
Stainless

steel

Edelstahl

5300

6600

13000

24000

33000

42000

alu

1000

1400

1600

2300

3300

3900

acier
Steel

Stahl

1100

2100

2600

3800

5400

6900

7500

inox
Stainless

steel

Edelstahl

1800

3100

4500

6900

9600

10000

alu

0,7

2,5

5

8

20

25

acier
Steel

Stahl

1

4

8

15

26

45

70

inox
Stainless

steel

Edelstahl

1,5

8

14

24

38

55

Filetage
Thread size

Gewinde

M3

M4

M5

M6

M8

M10

M12

P / F  / A

• TÊTE PLATE
Flat head 
Flachkopf

• TÊTE FRAISÉE
Countersunk
Senkkopf

• TÊTE AFFLEURANTE
Reduced countersunk 
Kleiner Senkkopf

M3

FILETAGE
Thread size
Gewinde

CL / CR / HS / HE

• FÛT CYLINDRIQUE LISSE
Round body
Rundschaft

• FÛT CYLINDRIQUE RAINURÉ
Knurled body
Rundschaft rilliert

• FÛT SEMI-HEXAGONAL
Half hexagonal body
Halb-Sechskantschaft

• FÛT HEXAGONAL
Hexagonal body
Sechskantschaft

B

BORGNE
Closed end
Geschlossen

7

DIAMÈTRE DE PERÇAGE
Hole diameter 
Bohrloch 

AZ / AL / IN 

• ACIER ZINGUÉ
Steel
Stahl verzinkt

• ALUMINIUM

• Inox
Stainless Steel
Edelstahl

0530

PLAGE DE SERRAGE
Grip range
Klemmbereich

(N) (N) (N.m)

P A R T  N U M B E R  •  DESIGNATION DE L'ARTICLE / ARTIKELNUMMER



STEEL • ACIER • STAHL
BLIND RIVET NUT DOME HEAD ROUND BODY  - TÊTE PLATE FÛT CYLINDRIQUE LISSE                                                            5

COUNTERSUNK HEAD ROUND BODY - TÊTE FRAISEE FÛT CYLINDRIQUE LISSE                                   5

REDUCED COUNTERSUNK HEAD ROUND BODY - TÊTE AFFLEURANTE FÛT CYLINDRIQUE LISSE      6

DOME HEAD KNURLED ROUND BODY - TÊTE PLATE FÛT CYLINDRIQUE RAINURE    6

COUNTERSUNK HEAD KNURLED BODY - TÊTE FRAISEE FÛT CYLINDRIQUE RAINURE                         7

REDUCED COUNTERSUNK HEAD KNURLED BODY - TÊTE AFFLEURANTE FÛT CYLINDRIQUE RAINURE

DOME HEAD CLOSED END ROUND BODY  - TÊTE PLATE FÛT CYLINDRIQUE LISSE BORGNE               8

COUNTERSUNK HEAD CLOSED END KNURLED BODY - TÊTE FRAISEE FÛT CYLINDRIQUE BORGNE

DOME HEAD HALF-HEXAGONAL BODY - TÊTE PLATE FÛT SEMI-HEXAGONAL                                    9

REDUCED COUNTERSUNK HEAD HALF-HEXA BODY - TÊTE AFFLEURANTE FÛT SEMI-HEXA                 10

DOME HEAD HEXAGONAL BODY - TÊTE PLATE FÛT HEXA                                      11

REDUCED COUNTERSUNK HEAD HEXAGONAL BODY - TÊTE AFFLEURANTE FÛT HEXAGONAL         11

DOME HEAD CLOSED END HEXAGONAL BODY - TÊTE PLATE FÛT HEXAGONAL BORGNE    12

REDUCED COUNTERSUNK HEAD CLOSED END HEXA BODY - TÊTE AFFLEURANTE FÛT HEXA BORGNE

ALUMINIUM • ALUMINIUM
BLIND RIVET NUT DOME HEAD ROUND BODY  - TÊTE PLATE FÛT CYLINDRIQUE LISSE                          13

COUNTERSUNK HEAD ROUND BODY - TÊTE FRAISEE FÛT CYLINDRIQUE LISSE                 13

REDUCED COUNTERSUNK HEAD ROUND BODY - TÊTE AFFLEURANTE FÛT CYLINDRIQUE LISSE    14

STAINLESS INOX • INOX • EDELSTAHL
BLIND RIVET NUT DOME HEAD ROUND BODY  - TÊTE PLATE FÛT CYLINDRIQUE LISSE                                                       15 15

COUNTERSUNK HEAD ROUND BODY - TÊTE FRAISEE FÛT CYLINDRIQUE LISSE                              15

REDUCED COUNTERSUNK HEAD ROUND BODY - TÊTE AFFLEURANTE FÛT CYLINDRIQUE LISSE

DOME HEAD HALF-HEXAGONAL BODY - TÊTE PLATE FÛT SEMI-HEXAGONAL                          17

COUNTERSUNK HEAD HALF-HEXAGONAL BODY - TÊTE FRAISEE FÛT SEMI-HEXA                          17

BLIND STUDS (PLEASE CONTACT US) - GOUJONS AVEUGLES (NOUS CONTACTER)

SETTING TOOLS - OUTILS DE POSE                                                                                        18

CUSTOM-MADE, PNEUMATIC AND HYDRO-PNEUMATIC, HAND-HELD OR  FULLY AUTOMATED TOOLS
OUTILS DE POSE OLEO-PNEUMATIQUE MANUELS OU INTEGRABLES                                                                                  19



D

d

L

k

s

STEEL • ACIER • STAHL

ÉCROU AVEUGLE TÊTE PLATE FÛT CYLINDRIQUE LISSE
RIVET NUT / FLAT HEAD / ROUND BODY 
BLINDEINIETMUTTER / FLACHKOPF / RUNDSCHAFT 

s

0,3-1,8
1,8-3,0

0,3-2,0
2,0-4,0

0,5-3,0
3,0-5,0

0,5-3,0
3,0-6,0

0,5-3,5
3,5-6,0

0,8-3,5
3,5-6,0

1,0-3,5
3,5-6,0

0/+0.1

5

6

7

9

11

12

13

d

4,9

5,9

6,9

8,9

10,9

11,9

12,9

L

9

10,5
12,5

14
16

16
19

17
20

19
22

21
24

k

0,8

0,8

1

1,5

1,5

1,7

1,7

D

8

9

10

13

16

16

17

DÉSIGNATION
PART NUMBER

BEZEICHNUNG

PM3 CL5 AZ0318
PM3 CL5 AZ1830

PM4 CL6 AZ0320
PM4 CL6 AZ2040

PM5 CL7 AZ0530
PM5 CL7 AZ3050

PM6 CL9 AZ0530
PM6 CL9 AZ3060

PM8 CL11 AZ0535
PM8 CL11 AZ3560

PM10 CL12 AZ0835
PM10 CL12 AZ3560

PM10 CL13 AZ1035
PM10 CL13 AZ3560

D

d

L

k

s

ÉCROU AVEUGLE TÊTE FRAISÉE FÛT CYLINDRIQUE LISSE 
RIVET NUT / COUNTERSUNK HEAD / ROUND BODY
BLINDEINIETMUTTER / SENKKOPF / RUNDSCHAFT 

M3

M4

M5

M6

M8

M10

s

1,5-2,8
2,8-4,0

1,7-3,5
3,5-5,0

1,7-4,0
4,0-6,0

1,2-3,0
3,0-6,0

1,2-3,0
3,0-6,0

1,8-4,0
4,0-6,0

0/+0.1

5
5

6
6

7
7

9
9

11
11

12
12

d

4,9
4,9

5,9
5,9

6,9
6,9

8,9
8,9

10,9
10,9

11,9
11,9

L

9,5
10,5

11,5
13

13
15

14
17

16
19

18
20,5

k

1,5
1,5

1,5
1,5

1,5
1,5

1,5
1,5

1,5
1,5

1,5
1,5

D

8
8

9
9

10
10

11
11

13
13

15
15

DÉSIGNATION
PART NUMBER

BEZEICHNUNG

*FM3 CL5 AZ1528
*FM3 CL5 AZ2840

FM4 CL6 AZ1735
FM4 CL6 AZ3550

FM5 CL7 AZ1740
FM5 CL7 AZ4060

FM6 CL9 AZ1230
FM6 CL9 AZ3060

FM8 CL11 AZ1230
FM8 CL11 AZ3060

FM10 CL12 AZ1840
FM10 CL12 AZ4060

M3

M4

M5

M6

M8

M10

* sur demande / on request / auf Anfrage

5



6

D

d

L

k

D

d

L

k

s

STEEL • ACIER • STAHL

ÉCROU AVEUGLE TÊTE AFFLEURANTE FÛT CYLINDRIQUE LISSE 
RIVET NUT / REDUCED COUNTERSUNK / ROUND BODY 
BLINDEINIETMUTTER / KLEINER SENKKOPF / RUNDSCHAFT 

M3

M4 

M5 

M6 

M8 

M10 

s

0,5-2,0

0,5-2,5

0,5-2,5

1,0-4,0

1,0-4,0

1,0-4,0

0/+0.1

4,9

6,4

7,2

9,6

10,6

12,8

d

4,8

6,3

7,1

9,5

10,5

12,7

L

9

10

12

15

16

18

k

0,5

0,5

0,5

0,5

0,5

0,5

D

5,8

7,3

8,1

10,5

11,5

13,7

DÉSIGNATION
PART NUMBER

BEZEICHNUNG

AM3 CL4.9 AZ0520

AM4 CL6.4 AZ0525

AM5 CL7.2 AZ0525

AM6 CL9.6 AZ1040

AM8 CL10.6 AZ1040

AM10 CL12.8 AZ1040

s

ÉCROU AVEUGLE TÊTE PLATE FÛT CYLINDRIQUE RAINURÉ
RIVET NUT / FLAT HEAD / KNURLED BODY 
BLINDEINIETMUTTER / FLACHKOPF / RUNDSCHAFT RILLIERT

DÉSIGNATION
PART NUMBER

BEZEICHNUNG

PM3 CR5 AZ0530

PM4 CR6 AZ0330
PM4 CR6 AZ3140

PM5 CR7 AZ0330
PM5 CR7 AZ3140

PM6 CR9 AZ0530
PM6 CR9 AZ3145

PM8 CR11 AZ0530
PM8 CR11 AZ3155

PM10 CR12 AZ0530
PM10 CR13,1 AZ1040
PM10 CR12 AZ3060

PM12 CR16 AZ1040

D

7

9

10

12

15

16

22

k

0,9

1

1

1,5

1,5

2
1,6
2

2

L

10

10
11,5

12
15

14,5
16

16
18,5

17
20
22

23

d

4,9

5,9

6,9

8,9

10,9

11,9
13

11,9

15,9

0/+0.1

5

6

7

9

11

12
13,1
12

16

s

0,5-3,0

0,3-3,0
3,1-4,0

0,3-3,0
3,1-4,0

0,5-3,0
3,1-4,5

0,5-3,0
3,1-5,5

0,5-3,0
1,0-4,0
3,0-6,0

1,0-4,0

M3

M4

M5

M6

M8

M10

M12



7

D

d

L

k

D

d

L

k

s

STEEL • ACIER • STAHL

ÉCROU AVEUGLE TÊTE FRAISÉE FÛT CYLINDRIQUE RAINURÉ
RIVET NUT / COUNTERSUNK HEAD / KNURLED BODY
BLINDEINIETMUTTER  / SENKKOPF / RUNDSCHAFT RILLIERT 

M4

M5

M6

M8

M10

s

1,7-3,5
3,5-5,0

1,7-4,0
4,0-6,0

1,2-3,0
3,0-6,0

1,2-3,0
3,0-6,0

2,0-4,5

0/+0.1

6

7

9

11

12

d

5,9
5,9

6,9
6,9

8,9
8,9

10,9
10,9

11,9

L

11,5
13

13
15

14
17

16
19

21

k

1,5
1,5

1,5
1,5

1,5
1,5

1,5
1,5

1,5

D

9
9

10
10

11
11

13
13

14,7

DÉSIGNATION
PART NUMBER

BEZEICHNUNG

FM4 CR6 AZ1735
FM4 CR6 AZ3550

FM5 CR7 AZ1740
FM5 CR7 AZ4060

FM6 CR9 AZ1230
FM6 CR9 AZ3060

FM8 CR11 AZ1230
FM8 CR11 AZ3060

FM10 CR12 AZ2045

s

ÉCROU AVEUGLE TÊTE AFFLEURANTE FÛT CYLINDRIQUE RAINURÉ 
RIVET NUT / REDUCED COUNTERSUNK HEAD / KNURLED BODY 
BLINDEINIETMUTTER / KLEINE SENKKOPF / RUNDSCHAFT RILLIERT 

M3 

M4 

M5 

M6 

M8 

M10  

s

0,5-2,0

0,5-2,5

0,5-2,5

1,0-4,0

1,0-4,0

0,8-3,5

1,0-4,0

0/+0.2

5

6

7

9

11

12

13,1

d

5

6

7

9

11

11,9

13

L

9

10

12

15

16

20

18,5

k

0,4

0,5

0,5

0,5

0,5

0,8

0,5

D

5,7

7

8

10

12

13,5

14

DÉSIGNATION
PART NUMBER

BEZEICHNUNG

AM3 CR5 AZ0520

AM4 CR6 AZ0525

AM5 CR7 AZ0525

AM6 CR9 AZ1040

AM8 CR11 AZ1040

AM10 CR12 AZ0835

AM10 CR13 AZ1040



D

d

L

k

D

d

L

k

s

STEEL • ACIER • STAHL

ÉCROU AVEUGLE TÊTE PLATE FÛT CYLINDRIQUE LISSE BORGNE 
RIVET NUT / FLAT HEAD / CLOSED END ROUND BODY 
BLINDEINIETMUTTER / FLACHKOPF / RUNDSCHAFT-GESCHLOSSEN 

M3

M4

M5

M6

M8

M10

s

0,3-1,8
1,8-3,0

0,3-2,5
2,5-4,0

0,5-3,0
3,0-5,0

0,5-2,3
2,3-4,0
4,0-6,0

0,8-3,5
3,5-6,0

1,0-3,5
3,5-6,0

0/+0.1

5
5

6
6

7
7

9
9
9

11
11

12
12

d

4,9
4,9

5,9
5,9

6,9
6,9

8,9
8,9
8,9

10,9
10,9

11,9
11,9

L

14,5
15,5

16,5
18

18
20,5

20,5
22

23,5

25,5
28

29
31,5

k

0,8
0,8

1
1

1,2
1,2

1,5
1,5
1,5

1,5
1,5

1,7
1,7

D

7
7

9
9

10
10

12
12
12

15
15

16
16

DÉSIGNATION
PART NUMBER

BEZEICHNUNG

*PM3 CLB5 AZ0318
*PM3 CLB5 AZ1830

*PM4 CLB6 AZ0325
*PM4 CLB6 AZ2540

*PM5 CLB7 AZ0530
*PM5 CLB7 AZ3050

*PM6 CLB9 AZ0523
*PM6 CLB9 AZ2340
*PM6 CLB9 AZ4060

*PM8 CLB11 AZ0835
*PM8 CLB11 AZ3560

*PM10 CLB12 AZ1035
*PM10 CLB12 AZ3560

s

ÉCROU AVEUGLE TÊTE FRAISÉE FÛT CYLINDRIQUE RAINURÉ BORGNE
RIVET NUT / COUNTERSUNK HEAD / CLOSED END KNURLED BODY
BLINDEINIETMUTTER / SENKKOPF / RUNDSCHAFT RILLIERT-GESCHLOSSEN 

M4

M5

M6

M8

s

2,0-3,5

2,0-4,0

2,0-4,5

2,0-4,5

0/+0.1

6

7

9

11

d

5,9

6,9

8,9

10,9

L

17,5

20,5

23,5

28

k

1,5

1,5

1,5

1,5

D

9

10

12

14

DÉSIGNATION
PART NUMBER

BEZEICHNUNG

*FM4 CRB6 AZ2035

*FM5 CRB7 AZ2040

*FM6 CRB9 AZ2045

*FM8 CRB11 AZ2045

8

* sur demande / on request / auf Anfrage

* sur demande / on request / auf Anfrage
PS: écrou aveugle tête plate fût cylindrique rainuré borgne sur demande / flat head knurled body
on request / Flachkopf rundschaft Rilliert-geschlossen auf Anfrage



9

D

d

L

k

s

STEEL • ACIER • STAHL

ÉCROU AVEUGLE TÊTE PLATE FÛT SEMI-HEXAGONAL 
RIVET NUT / FLAT HEAD / HALF HEXAGONAL BODY 
BLINDEINIETMUTTER / FLACHKOPF / HALB-SECHSKANTSCHAFT 

M3

M4

M5

M6

M8

M10

s

0,3-1,8

0,3-2,0
2,0-4,0

0,5-3,0
3,0-5,0

0,5-3,0
3,0-6,0

0,5-3,5
3,5-6,0

0,8-3,5
3,5-6,0

1,0-3,5
3,5-6,0

SW

0/+0.1

5

6

7

9

11

12

13

d

4,9

5,9

6,9

8,9

10,9

11,9

12,9

L

9

10,5
12,5

14
16

16
19

17
20

19
22

21
24

k

0,8

0,8

1

1,5

1,5

1,7

1,7

D

8

9

10

13

16

16

17

DÉSIGNATION
PART NUMBER

BEZEICHNUNG

*PM3 HS5 AZ0318

PM4 HS6 AZ0320
PM4 HS6 AZ2040

PM5 HS7 AZ0530
PM5 HS7 AZ3050

PM6 HS9 AZ0530
PM6 HS9 AZ3060

PM8 HS11 AZ0535
PM8 HS11 AZ3560

*PM10 HS12 AZ0835
*PM10 HS12 AZ3560

*PM10 HS13 AZ1035
*PM10 HS13 AZ3560

M4 

M5 

M6 

M8 

M10

s

0,5-2,0

0,5-3,3

0,5-3,5

0,5-3,8

0,5-3,8

SW  

0/+0.1

6,35

7,2

9,6

12,7

12,7

d

6,25

7

9,4

12,6

12,6

L

10,5

11,6

15,4

18,4

18,4

k

0,68

0,68

0,76

0,89

0,89

D

9,5

9,9

12,9

16,5

16,5

DÉSIGNATION 
PART NUMBER

BEZEICHNUNG

PM4 HS6.35 AZ0520

PM5 HS7.2 AZ0533

PM6 HS9.6 AZ0535

PM8 HS12.7 AZ0538

PM10 HS12.7 AZ0538

SW

POUCIQUE / INCH DIMENSIONS / INCH MASSEN

* sur demande / on request / auf Anfrage



D

d

L

k

s

STEEL • ACIER • STAHL

ÉCROU AVEUGLE TÊTE AFFLEURANTE FÛT SEMI-HEXAGONAL 
RIVET NUT / REDUCED COUNTERSUNK / HALF HEXAGONAL BODY 
BLINDEINIETMUTTER / KLEINER SENKKOPF / HALB-SECHSKANTSCHAFT

M3

M4

M5

M6

M8

M10

s

0,5-1,5

0,5-2,0
2,0-3,0

0,5-3,0
2,0-4,0

0,5-3,0
3,0-6,0

0,5-3,0
3,0-6,0

1,0-2,5
2,5-4,0

1,0-2,5

SW 

0/+0.1

5

6

7

9

11

12

13,1

d

4,9

5,9

6,9

8,9

10,9

11,9

13

L

8,5

10,5
11,5

11,5
13,5

14,5
17,5

16,5
19,5

16,5
18

18

k

0,35

0,5

0,5

0,6

0,6

0,85

0,85

D

5,5

6,8

8

10

12

13,5

14

DÉSIGNATION
PART NUMBER

BEZEICHNUNG

*AM3 HS5 AZ0515

AM4 HS6 AZ0520
AM4 HS6 AZ2030

AM5 HS7 AZ0530
AM5 HS7 AZ2040

AM6 HS9 AZ0530
AM6 HS9 AZ3060

AM8 HS11 AZ0530
AM8 HS11 AZ3060

*AM10 HS12 AZ1025
*AM10 HS12 AZ2540

AM10 HS13 AZ1025

M4 

M5 

M6 

M8 

M10

s

0,5-2,0

0,5-3,0

0,5-3,0

0,5-3,5

0,7-3,8

SW 

0/+0.1

6,45

7,2

9,6

10,6

12,7

d

6,35

7,1

9,5

10,5

12,6

L

10,4

11,8

14,6

16

18,5

k

0,4

0,6

0,6

0,6

0,6

D

7

8

10,6

11,5

14

DÉSIGNATION 
PART NUMBER

BEZEICHNUNG

AM4 HS6.45 AZ0520

AM5 HS7.2 AZ0530

AM6 HS9.6 AZ0530

AM8 HS10.6 AZ0535

*AM10 HS12.7 AZ0738

10

SW

POUCIQUE / INCH DIMENSIONS / INCH MASSEN

* sur demande / on request / auf Anfrage

* sur demande / on request / auf Anfrage



11

D

d

L

k

STEEL • ACIER • STAHL D

d

L

k

s

M4 

M5 

M6 

M8 

M10

s

0,5-2,5

0,5-3,0

0,5-3,3

0,5-3,3

0,5-3,5

SW

0/+ 0.2

6

7

9

11

13

d

5,9

6,9

8,9

10,9

12,9

L

10,7

13,7

16

18

21

k

0,9

0,9

1,5

1,5

2

D

9

10

13

16

19

DÉSIGNATION
PART NUMBER

BEZEICHNUNG

PM4 HE6 AZ0525

PM5 HE7 AZ0530

PM6 HE9 AZ0533

PM8 HE11 AZ0533

PM10 HE13 AZ0535

s

ÉCROU AVEUGLE TÊTE AFFLEURANTE FÛT HEXAGONAL
RIVET NUT / REDUCED COUNTERSUNK / HEXAGONAL BODY
BLINDEINIETMUTTER / KLEINER SENKKOPF / SECHSKANTSCHAFT 

M4 

M5

M6

M8 

M10 

M12

s

0,5-2,5

0,5-3,0

0,5-3,3

0,5-3,3

0,5-4,0

1,0-4,0
4,0-8,0

SW

0/+0.2

6

7

9

11

13

16

d

5,9

6,9

8,9

10,9

12,9

15,9

L

10,2

12

15,2

17,8

21

25
28

k

0,5

0,5

0,5

0,6

0,8

1

D

6,9

7,8

10

12

14,6

18,8

DÉSIGNATION
PART NUMBER

BEZEICHNUNG

AM4 HE6 AZ0525

AM5 HE7 AZ0530

AM6 HE9 AZ0533

AM8 HE11 AZ0533

AM10 HE13 AZ0540

AM12 HE16 AZ1040
AM12 HE16 AZ4080

ÉCROU AVEUGLE TÊTE PLATE FÛT HEXAGONAL
RIVET NUT / FLAT HEAD / HEXAGONAL BODY 
BLINDEINIETMUTTER / FLACHKOPF / SECHSKANTSCHAFT

SW

SW



D

d

L

k

D

d

L

k

s

STEEL • ACIER • STAHL

ÉCROU AVEUGLE TÊTE PLATE FÛT HEXAGONAL BORGNE 
RIVET NUT / FLAT HEAD / CLOSED END HEXAGONAL BODY 
BLINDEINIETMUTTER / FLACHKOPF / SECHSKANTSCHAFT-GESCHLOSSEN

M4

M5

M6

M8

s

0,5-2,0

0,5-3,0

0,5-3,0

0,5-3,0

SW

0/+0.1

6

7

9

11

d

5,9

6,9

8,9

10,9

L

16

20

22

26

k

1

1

1,5

1,5

D

9

10

13

16

DÉSIGNATION
PART NUMBER

BEZEICHNUNG

*PM4 HEB6 AZ0520

*PM5 HEB7 AZ0530

*PM6 HEB9 AZ0530

*PM8 HEB11 AZ0530

s

ÉCROU AVEUGLE TÊTE AFFLEURANTE FÛT HEXAGONAL BORGNE 
RIVET NUT / REDUCED COUNTERSUNK HEAD / CLOSED END HEXAGONAL BODY 
BLINDEINIETMUTTER / KLEINER SENKKOPF / SECHSKANTSCHAFT-GESCHLOSSEN 

M4

M5

M6

M8

s

0,5-2,0

0,5-3,0

0,5-3,0

0,5-3,0

SW

0/+0.1

6

7

9

11

d

5,9

6,9

8,9

10,9

L

16

20

22

26

k

0,5

0,6

0,6

0,8

D

6,6

8

10

12

DÉSIGNATION
PART NUMBER

BEZEICHNUNG

*AM4 HEB6 AZ0520

*AM5 HEB7 AZ0530

*AM6 HEB9 AZ0530

*AM8 HEB11 AZ0530

12

* sur demande / on request / auf Anfrage

* sur demande / on request / auf Anfrage

SW

SW



13

D

d

L

k

s

ÉCROU AVEUGLE TÊTE FRAISÉE FÛT CYLINDRIQUE LISSE  
RIVET NUT / COUNTERSUNK HEAD / ROUND BODY
BLINDEINIETMUTTER / SENKKOPF / RUNDSCHAFT 

M4

M5

M6

M8

M10

s

1,7-3,5
3,5-5,0

1,7-4,0
4,0-6,0

1,2-3,0
3,0-6,0

1,2-3,0
3,0-6,0

1,8-4,0
4,0-6,0

0/+0.1

6

7

9

11

12

d

5,9

6,9

8,9

10,9

11,9

L

11,5
13

13
15

14
17

16
19

18
20,5

k

1,5

1,5

1,5

1,5

1,5

D

9

10

11

13

15

DÉSIGNATION
PART NUMBER

BEZEICHNUNG

*FM4 CL6 AL1735
*FM4 CL6 AL3550

*FM5 CL7 AL1740
*FM5 CL7 AL4060

*FM6 CL9 AL1230
*FM6 CL9 AL3060

*FM8 CL11 AL1230
*FM8 CL11 AL3060

*FM10 CL12 AL1840
*FM10 CL12 AL4060

* sur demande / on request / auf Anfrage

D

d

L

k

s

ALUMINIUM • ALUMINIUM

ÉCROU AVEUGLE TÊTE PLATE FÛT CYLINDRIQUE LISSE
RIVET NUT / FLAT HEAD / ROUND BODY 
BLINDEINIETMUTTER / RUNDSCHAFT / FLACHKOPF 

M4

M5

M6

M8

M10

s

0,3-2,0
2,0-4,0

0,5-3,0
3,0-5,0

0,5-3,0
3,0-6,0

0,5-3,5
3,5-6,0

0,8-3,5
3,5-6,0

1,0-3,5
3,5-6,0

0/+0.1

6

7

9

11

12

13

d

5,9

6,9

8,9

10,9

11,9

12,9

L

10,5
12,5

14
16

16
19

17
20

19
22

21
24

k

0,8

1

1,5

1,5

1,7

1,7

D

9

10

13

16

16

17

DÉSIGNATION
PART NUMBER

BEZEICHNUNG

*PM4 CL6 AL0320
*PM4 CL6 AL2040

*PM5 CL7 AL0530
*PM5 CL7 AL3050

*PM6 CL9 AL0530
*PM6 CL9 AL3060

*PM8 CL11 AL0535
*PM8 CL11 AL3560

*PM10 CL12 AL0835
*PM10 CL12 AL3560

*PM10 CL13 AL1035
*PM10 CL13 AL3560

* sur demande / on request / auf Anfrage



D

d

L

k

s

ÉCROU AVEUGLE TÊTE AFFLEURANTE FÛT CYLINDRIQUE LISSE 
RIVET NUT / REDUCED COUNTERSUNK HEAD / ROUND BODY 
BLINDEINIETMUTTER / FLACHKOPF / RUNDSCHAFT 

M4

M5

M6

M8

M10

s

0,5-2,0
2,0-3,0

0,5-3,0
2,0-4,0

0,5-3,0
3,0-6,0

0,5-3,0
3,0-6,0

1,0-2,5
2,5-4,0

0/+0.1

6

7

9

11

12

d

5,9

6,9

8,9

10,9

11,9

L

10,5
11,5

11,5
13,5

14,5
17,5

16,5
19,5

16,5
18

k

0,5

0,5

0,6

0,6

0,85

D

6,8

8

10

12

13,5

DÉSIGNATION
PART NUMBER

BEZEICHNUNG

*AM4 CL6 AL0520
*AM4 CL6 AL2030

*AM5 CL7 AL0530
*AM5 CL7 AL2040

*AM6 CL9 AL0530
*AM6 CL9 AL3060

*AM8 CL11 AL0530
*AM8 CL11 AL3060

*AM10 CL12 AL1025
*AM10 CL12 AL2540

* sur demande / on request / auf Anfrage

ALUMINIUM • ALUMINIUM

14



15

D

d

L

k

s

ÉCROU AVEUGLE TÊTE FRAISÉE FÛT CYLINDRIQUE LISSE
RIVET NUT / COUNTERSUNK HEAD / ROUND BODY
BLINDEINIETMUTTER / SENKKOPF / RUNDSCHAFT 

M4

M5

M6

M8

M10

s

2,0-3,5

2,0-4,0

2,0-4,5

2,0-4,5

2,0-4,5

0/+0.1

6

7

9

11

13

d

5,9

6,9

8,9

10,9

12,9

L

11,5

13,5

16

19

21

k

1,5

1,5

1,5

1,5

1,5

D

9

10

12

14

16

DÉSIGNATION
PART NUMBER

BEZEICHNUNG

FM4 CL6 IN2035

FM5 CL7 IN2040

FM6 CL9 IN2045

FM8 CL11 IN2045

FM10 CL13 IN2045

D

d

L

k

s

STAINLESS • INOX • EDELSTAHL

ÉCROU AVEUGLE TÊTE PLATE FÛT CYLINDRIQUE LISSE
RIVET NUT / FLAT HEAD / ROUND BODY 
BLINDEINIETMUTTER / FLACHKOPF / RUNDSCHAFT

M4

M5

M6

M8

M10

s

0,3-2,5
2,5-4,0

0,3-3,0
3,1-4,0

0,5-3,0
3,1-4,5

0,5-3,0
3,1-5,5

0,5-3,0
3,1-5,5

0/+0.1

6

7

9

11

13

d

5,9

6,9

8,9

10,9

12,9

L

10
11,5

12
13,5

14,5
16

16
18,5

17
20

k

1

1

1,5

1,5

2

D

9

10

12

15

16

DÉSIGNATION
PART NUMBER

BEZEICHNUNG

PM4 CL6 IN0325
PM4 CL6 IN2540

PM5 CL7 IN0330
PM5 CL7 IN3140

PM6 CL9 IN0530
PM6 CL9 IN3145

PM8 CL11 IN0530
PM8 CL11 IN3155

PM10 CL13 IN0530
PM10 CL13 IN3155



D

d

L

k

s

ÉCROU AVEUGLE TÊTE AFFLEURANTE FÛT CYLINDRIQUE RAINURÉ 
RIVET NUT / REDUCED COUNTERSUNK HEAD / KNURLED BODY 
BLINDEINIETMUTTER / KLEINE SENKKOPF / RUNDSCHAFT RILLIERT 

M3 

M4 

M5 

M6 

M8 

M10  

s

0,5-2,0

0,5-2,5

0,5-3,0

0,5-3,0

0,5-3,0

1,0-3,5

0/+0.1

5

6

7

9

11

13

d

5

6

7

9

11

13

L

8,5

10,5

11,5

13,5

15,5

18,2

k

0,5

0,5

0,5

0,5

0,5

0,8

D

6,0

7,0

8,0

10,0

12,0

14,2

DÉSIGNATION
PART NUMBER

BEZEICHNUNG

AM3 CR5 IN0520

AM4 CR6 IN0525

AM5 CR7 IN0530

AM6 CR9 IN0530

AM8 CR11 IN0530

AM10 CR13 IN1035

16

D

d

L

k

s

ÉCROU AVEUGLE TÊTE AFFLEURANTE FÛT CYLINDRIQUE LISSE 
RIVET NUT / REDUCED COUNTERSUNK HEAD / ROUND BODY
BLINDEINIETMUTTER / KLEINER SENKKOPF / RUNDSCHAFT 

M4

M5

M6

M8

M10

s

0,5-2,5

0,5-3,0

0,5-3,0

0,5-3,0

0,8-3,5

0/+0.1

6

7

9

11

13

d

5,9

6,9

8,9

10,9

12,9

L

10

11,5

14

15,5

19,5

k

0,6

0,6

0,6

0,6

0,8

D

7

8

10

12

14,5

DÉSIGNATION
PART NUMBER

BEZEICHNUNG

AM4 CL6 IN0525

AM5 CL7 IN0530

AM6 CL9 IN0530

AM8 CL11 IN0530

AM10 CL13 IN0835

STAINLESS • INOX • EDELSTAHL



17

D

d

L

k

D

d

L

k

s

STAINLESS • INOX • EDELSTAHL

ÉCROU AVEUGLE TÊTE PLATE FÛT SEMI-HEXAGONAL
RIVET NUT / FLAT HEAD / HALF HEXAGONAL BODY 
BLINDEINIETMUTTER / FLACHKOPF / HALB-SECHSKANTSCHAFT 

M4

M5

M6

M8

M10

s

0,5-2,5

0,5-3,0

0,5-3,0

0,5-3,0

1,0-4,0

SW

0/+0.1

6,1

7,1

9,1

11,1

13,1

d

6

7

9

11

13

L

11,5

13,5

15,5

17,5

22

k

1

1

1,5

1,5

2

D

9,3

10,3

12,3

14,3

16,3

DÉSIGNATION
PART NUMBER

BEZEICHNUNG

PM4 HS6.1 IN0525

PM5 HS7.1 IN0530

PM6 HS9.1 IN0530

PM8 HS11.1 IN0530

PM10 HS13.1 IN1040

s

ÉCROU AVEUGLE TÊTE AFFLEURANTE FÛT SEMI-HEXAGONAL 
RIVET NUT / REDUCED COUNTERSUNK HEAD / HALF HEXAGONAL BODY
BLINDEINIETMUTTER / KLEINER SENKKOPF / HALB-SECHSKANTSCHAFT 

M4

M5

M6

M8

M10

s

0,5-2,5

0,5-3,0

0,5-3,0

0,5-3,0

1,0-4,0

SW

0/+0.1

6,1

7,1

9,1

11,1

13,1

d

6

7

9

11

13

L

12

14

16

17

20,5

k

0,6

0,6

0,6

0,6

0,8

D

6,5

7,5

9,5

11,5

13,5

DÉSIGNATION
PART NUMBER

BEZEICHNUNG

AM4 HS6.1 IN0525

AM5 HS7.1 IN0530

AM6 HS9.1 IN0530

AM8 HS11.1 IN0530

AM10 HS13.1 IN1040

SW

SW



18

H Y D R O P N E U M A T I C  T O O L S  •   OUTILS DE POSE • PNEUMATISCH HYDRAULISCHE GERÄTE

RIV 998 – P/N. 452RIV998
HYDROPNEUMATIC TOOL 

Nominal pressure : 6 bar
Min./max. air pressure : 5/7 bar
Air consumption per cycle : 7,5 lt
Stroke : 0/6,5 mm
Max. power : 6 bar/2 050 kg
Weight : 2,4 kg
Vibrations : < 2,5 m/s2

Loudness < 80 dB (A)

RIV 912 – P/N. 452RIV912
HYDROPNEUMATIC TOOL 

Nominal air pressure: 6 bar
Min.max. air pressure: 5/7 bar
Air consumption per cycle: 7,5 lt
Stroke: 0/6,5 mm
Max. power : 6 bar/2050 kg
Weight : 2,3 kg
Vibrations : < 2,5 m/s2

Loudness < 80 dB (A)

The hydropneumatic setting tool RIV 998, is used to set
female inserts from M3 to M12, and threaded male inserts
from M4 to M8.

Benefits of this setting tool:
- Long lifetime, no wear and tear of the components
- Reduced dimensions and lightweight tool
- Cost-effective 
- Extended sleeve to reach difficult areas (on request).

The hydropneumatic tool RIV 912, is used to set female 
inserts from M3 to M12, and threaded male inserts from  
M4 to M8. 

Its innovative technology offers the following benefits:
- One position trigger mechanism.

l
- Only one pull to start the automatic stroke (screwing, setting, 

unscrewing).
- This innovative tool makes your work easier and quicker 

d
- The plastic and compact structure makes the tool lighter 

and easy to handle. 

This tool is supplied in a plastic box with
conversion kits from M3 to M10
(M12 on request).
D
ê
l

Kits to be ordered under following P/N
M3 451RIV998/3278
M4 451RIV998/3279
M5 451RIV998/3280
M6 451RIV998/3281
M8 451RIV998/3282
M10 451RIV998/3283
M12 451RIV998/3284

GOUJONS AVEUGLES
Nous consulter

Sold without conversion kit.
Kit to be ordered under the
following P/N:
M3 451RIV912/34411
M4 451RIV912/34412
M5 451RIV912/34413
M6 451RIV912/34414
M8 451RIV912/34415
M10 451RIV912/34416
M12 451RIV912/34417



19



20

C U S T O M - M A D E  S E T T I N G  T O O L S  

hydropneumatic stick equipment for
vertical applications 
suspended, hand-held or suitable for es

integration into a fully automated assembly units
semi-automatiques ou automatiques.

PROCESS CONTROL SYSTEM 

Our process control systems ensure your inserts

have been properly set. They are suitable for all

existing standard setting equipment from 

hand-held tools to semi and fully automated 

workstations.

They ensure different level of control :

• angle of inclination monitoring (controls the

position for the insert),

• full process control (grip range, number of 

inserts, breaking load),

• tracking system allowing you to record and

store setting data for each insert.

This control system guarantees a constant high

quality and saves substantially costs. 

We design and develop custom-made assembly 
solutions, allowing rapid setting and a maximum 
operator comfort.
c

These single or multiheaded tools are developed

according to the rugged kit systems and modular

components (head, pneumatic pressure intensifier,

vibrating bowl, monitoring system), which can be

combined separately  (pressure, size, design) to

meet specific requirements of the customer.

This modular system ensures rapid and cost-

effective custom-made solutions to set blind rivet

nuts from M3 to M12.



21



22

RUBBER NUT-INSERT

Dimensions & Specifications

Advantages :
• High vibration resistance
• Electrical, mechanical and phonic insulation
• Sealed against air or liquid leak
• Large grip range with the same insert
• High corrosion resistance
• Lightweight

ITEM NO.
A      

BODY 
DIAM

HOLE 
SIZE

GRIP 
RANGE

B    
LENGTH

C       
HEAD 

HEIGHT

D      
HEAD 
DIAM

METRIC
TIGHTENING 

TORQUE 
(KGf/CM)

HARDNESS 
(+/-5)

NEO M3 13 7,9 8 0,4-4,0 12,6 1,2 11 M3 x 0,5 2,5-5,0 60
NEO M3 24 7,9 8 8,5-15,0 24 1,2 11 M3 x 0,5 2,5-5,0 60
NEO M3 25 6,1 6,2 9,5-15,4 24,9 0,9 14 M3 x 0,5 2,5-5,0 70
NEO M4 13 7,9 8 0,4-4,0 12,6 1,2 11 M4 x 0,7 2,5-4,0 70
NEO M4 11 7,9 8 0,4-1,3 11 1,3 12,7 M4 x 0,7 3,5-5,0 70
NEO M4 14 7,9 8 0,4-4,4 14,2 1,5 19,05 M4 x 0,7 2,5-4,0 70
NEO M4 24 7,9 8 8,5-15,0 24 1,2 11 M4 x 0,7 2,5-4,0 70
NEO M5 11 9,6 9,7 0,5-1,5 11 1,5 12,7 M5 x 0,8 3,5-5,0 70
NEO M5 14 9,6 9,7 0,4-4,9 14,1 0,9 12,7 M5 x 0,8 3,5-5,0 60
NEO M5 17 9,6 9,7 0,85-5,9 17 1 14 M5 x 0,8 3,0-7,0 60
NEO M5 18 9,6 9,7 0,8-5,8 18 2 19 M5 x 0,8 3,0-7,0 60
NEO M5 21 9,6 9,7 7,9-11,4 21,5 0,9 14 M5 x 0,8 3,0-9,0 60
NEO M5 26 9,6 9,7 7,9-16,0 26,5 1,3 14 M5 x 0,8 3,0-7,0 60
NEO M5 39 9,6 9,7 20,5-30,0 39 1,3 14 M5 x 0,8 6,0-10,0 60
NEO M5 44 9,6 9,7 25,0-32,0 44 1,2 14 M5 x 0,8 6,0-10,0 60
NEO M6 16 12,7 12,8 0,4-2,8 16 1,3 16 M6 x 1,0 6,0-10,0 60
NEO M6 21 12,7 12,8 0,8-4,7 21,1 4,75 19,05 M6 x 1,0 8,0-10,0 70
NEO M6 27 12,7 12,8 6,4-11,5 26,7 2 16,3 M6 x 1,0 8,0-10,0 70
NEO M6 35 13 13,1 11,5-23,0 35 1,3 16 M6 x 1,0 8,0-10,0 70
NEO M6 50 12,7 12,8 26,0-38,0 50 1,3 16 M6 x 1,0 8,0-10,0 60
NEO M8 18 15,9 16 0,4-4,0 18,3 3,2 21,5 M8 x 1,25 10,0-16,0 60
NEO M8 28 15,9 16 3,95-9,5 27,9 5,7 21,5 M8 x 1,25 10,0-16,0 60
NEO M8 30 18 18,1 2,0-18,0 30 2 20,5 M8 x 1,25 10,0-16,0 60
NEO M8 50 18 18,1 15,0-39,0 50 1,6 20 M8 x 1,25 30,0-40,0 60
NEO M10 24 20 20,1 2,5-3,5 24 3 25 M10 x 1,5 45,0-55,0 60
NEO M10 55 20 20,1 19,0-40,0 55 1,3 22,5 M10 x 1,5 45,0-55,0 60
NEO M12 26 24 24,1 2,5-3,5 26,5 3 27 M12 x 1,75 60,0-70,0 60
NEO M12 78 24 24,1 38,0-64,0 78 1,3 27 M12 x 1,75 60,0-70,0 60

Part Number :  NEO - M3 13 N

Product 
Series Thread

Rubber Tube Material :
N : Neoprene
E : EPDM

• Material expansion absorption
• No damage when assembling plastic or foam
• Unscrewing by spring
• Can be set into blind holes
• Easy to disassembly
• Blind-side installation

The rubber nut-insert is a neoprene or EPDM rubber with captive brass or stainless steel nut. 
It is suitable for automotive, textile industries, consumer goods, building / construction and 
electronic industry.

Length



EC
RO

U
S 

AV
EU

G
LE

S 
03

/2
01

2

Speed
Rivets

Productivité accrue, coût réduit

Rapid and cost-effective fastening solution

Schnelles und effektives Nietsystem

full range of breakstem
fasteners

Your sales representative for Rivelit® Rivet Nuts is

Les données qui fi gurent dans ce catalogue sont communiquées à titre indicatif et ne peuvent, en aucun cas, engager la responsabilité du fabricant. Elles doivent impérativement être vérifi ées par des essais dans les conditions réelles 
d’utilisation. Nous nous réservons le droit de modifi er les caractéristiques techniques sans aucun avis préalable.
The data in this catalog must be used as a guide and can not engage the responsibility of the manufacturer. Tests must be carried out in real conditions of use. We reserve the right to change dimensions and specifi cations without prior notice. 
Die Angaben in diesem Katalog sind nur ungefähre Angaben und keinesfalls bindend für den Hersteller. Tests unter realen Bedingungen müssen durchgeführt werden. Wir behalten uns das Recht auf Änderungen der Maße oder Eigenschaften 
ohne vorherige Mitteilung vor.

Ser t i ssage  •  R i ve tage  •  Soudage  •  Assemb lage  dynam ique

Z.A. du Petit Nanterre - 141/143, rue de 1er mai - 92737 Nanterre Cedex
Tél. : 01 47 86 74 65 - Fax : 01 47 86 74 55 - inforivelit@titanox.fr

Distributeur agréé www.titanox.fr




